MHUHUCTEPCTBO HA OBPA3OBAHUETO, MUTAJIEZKTA U HAYKATA

REGIONAL OLYMPIAD IN ENGLISH

2012
Group One

Keys
Part Two
Reading Comprehension
Section one
1.A 2A 3A 4B 5A 6,A 7.C 8B 9.B 10.B
Section two

1D 2A 3B 4E 5C

Part Three
Use of English

Section One: Cloze
The text
1.C 22A 3 A 4B 5C 6.B 7.C 8A 9B 10.C

The sentences
1.A 2.C 3.A 4C 5B 6.C 7.B 8A 9B 10.C
11.A 12.B 13.C 14.A 15.B

Section Two: Error Identification
1. B (while) 2. B (built) 3. C(itis) 4. B (getting up) 5. A (amazing)

Section Three: Sentence Completion
1.A 2A 3.C 4B 5C

Section Four: Open the Brackets
1. makes/made 2. are changing / have changed
3.didn’tchoose 4. knew 5. would get / was getting / was going to get

Section Five: Sentence Transformation
1. If Bill had cried, the family wouldn’t have had a good sleep. / wouldn’t have slept
well.

Tony asked (Jane) if/whether she [Jane] had been on holiday recently.
Fruit and vegetables are said to be good for your health.

He didn’t use to sleep during the day.

Mike can’t be sailing / can’t sail in this stormy weather.

ok~ wn



MHUHUCTEPCTBO HA OBPA3OBAHUETO, MUIAJIEXKTA U HAYKATA

REGIONAL OLYMPIAD IN ENGLISH - 2012
Group Two

Keys
Dictation - He ce cuura 3a rpemka, aKo JUICBA THPETO NPH AyMHUTE, KOUTO
ce MUIIAT MOJIYCJIATO.

Reading Comprehension

Section one
1A 2B 3C 4A 5B 6.A 7B 8A 9.C 10.B

Section two

1D 2F 3. A 4C 5B /E-extra
Use of English

Cloze Test

The Text

1.A 2.C 3.C 4A 5A 6B 7B 8A 9A 10.C 11B 12.A 13.A 14B 15B
The Sentences

1B 2A 3.C 4C 5C 6B 7B 8C 9A 10A

Error Identification

1.B (have been serving) 2.C (inexpensively) 3.A (photographers)
4. A (my husband and me) 5.B (less)

Sentence Completion
1.A 2.C 3.C 4B 5A

Text Completion with Prepositions
l.at 2.on 3.- 4.on 5. about

Sentence Transformation

1. ....such an impression on her, that she wanted to live there permanently.
2. .....if there is something wrong with it.

3. .... have boiled potatoes than chips.

4. .....notdriven in Sofia for five years.

5. ....on Ann telling him the secret. /...that Ann (should) tell him the secret.



MHUHUCTEPCTBO HA OBPA3OBAHUETO, MUTAJIEZXKTA U HAYKATA

REGIONAL OLYMPIAD IN ENGLISH - 2012
Group Three

KEYS

READING COMPREHENSION
Section one: MULTIPLE CHOICE QUESTION
1.C; 2.B; 3.C; 4.A; 5B; 6.C; 7.A; 8C; 9.A; 10.B

Section two: JUMBLED TEXT
1.F, 2.C; 3.D; 4.A; 5 E; /extraparagraph-B

USE OF ENGLISH

Section one: CLOZE TEST — The Text
2.B; 3.B; 4 A; 5C; 6.C; 7.B; 8C;: 9.C;: 10.A:; 11.C; 12. A; 13.

A;
14. C; 15.B

1.
G
Section two: CLOZE TEST — The Sentences
16. C;17. A; 18.C; 19.C; 20.B; 21.B; 22. A; 23.B; 24.C; 25. A
Section three: ERROR IDENTIFICATION
1.B (Sue didn’t); 2.D (than nowadays); 3.B (a considerable progress);  4.B (would have known);
5.A (Although)
Section four: TEXT COMPLETION WITH DETERMINERS AND
QUANTIFIERS
1. these / any; 2. any, 3. many; 4. few; 5. the

Section five: SENTENCE COMPLETION
1.C; 2.B; 3.C; 4.A; 5B

Section six: SENTENCE TRANSFORMATION (suggested answers)

... been playing tennis for two years.

... anything to do in the evenings in this small town.

... hot going to college / not having been/gone to college.
... losing her keys.

.. to have escaped via Heathrow Airport.

agrownE



MUHUCTEPCTBO HA OBPA3OBAHUETO, MJIAJIEXKTA U HAYKATA

REGIONAL OLYMPIAD IN ENGLISH - 2012

Group Four

KEYS

Part One

DICTATION

motives / motifs - both spellings should be accepted

Part Two

READING COMPREHENSION

Section One

1C 2A 3C 4D 5D 6B 7A 8B 9C 10C
Section Two

1D 2B 3F 4E b5C /extraA

Part Three

USE OF ENGLISH

Section One - CLOZE TEST

1B 2.C 3. A 4D 5C 6D 7.A 8C 9B 10D 11.A 12B 13.C 14D 15.C
16.A 17.B 18D 19.A 20.C

Section Two - ERROR IDENTIFICATION

1.D; 2.B [one of which]; 3.A [tosay]; 4.C [has]; 5.A [such as]; 6.A [manage to pass / succeed in
passing]; 7.C [what they are]; 8.A [While he was working]; 9.C [his mother’s]; 10.A [because-6f];
11.B [have- had]; 12.C [this is Htwhat]; 13.B [was like]; 14.D; 15.C [soon changed]

Section Three - PARAPHRASE
1B 2C 3A 4B 5C 6C 7B 8A 9A 10B




MUHUCTEPCTBO HA OBPA3OBAHUETO, MJIAJIEZKTA U HAYKATA
REGIONAL OLYMPIAD IN ENGLISH - 2012

Group Five
KEYS

Part One

DICTATION

* wildflowers = wild flowers (not counted as a mistake)
** defence = defense (allowing for AmE spelling)

Part Two
READING COMPREHENSION

1C 2B 3D 4D 5B 6D 7A 8C 9A 10C

Part Three
USE OF ENGLISH

Section One: Cloze Test

1B 2A 3.C 4C 5A 6B 7.A 8C 9A 10A 11D 12B 13D 14B 15.C
16.C 17.D 18.C 19.A 20.D

Section Two: Error Identification

1.B [deals]; 2.B [its]; 3.D; 4.D; 5.B [would]; 6.B [which]; 7.A [had been playing]; 8.A
[Fumbling]; 9.C [to do/do/should do]; 10.C [rise]

Section Three: Error Correction

0. Itisafact that postwar art killed our culture. ... ) ST
00. As an entirely new lifestyle of consumerism had born, ... was born ...............
1. no sphere of high culture was implicated in the fallof ~ ...... Xotiii,
2. society in the same way art did. The power ofthe ... WaS.. . eeeeiiiineennnn
3. economies were unprecedented in history. Pop art took ... WaS....ceeeeieiinennnnn
4. the surfaces of objects like its subject matter. Everywhere, ... AS.iiiiie e
5. emotional depth in art censored. Abstract Expressionism ... was censored...........
6. had to have died. Pop art taught everyone to enjoy money ... had-to die...............
7. and the postmodernism did the same. Arthasevenfed ... postmodernism.........
8. the unsustainable appetites destroyed the planetby ... destroying............
9. telling every one cities are better than the countryside, ... everyone...............
10. culture more real than nature. It has become the murderer ... ) T
of decency.

Section Four: Paraphrase

1B 2B 3B 4.C 5D
6.A+B 7.A+B 8.A+D 9.B+C 10.A+B




MakcuMaJTHUAT OPoii TOYKH 32 ch31aBaHe HA TeKcT e 30.

1. CroTBeTCcTBHE ChC 32/1aI€HATA TEMA H JIOTHYECKa MOCJeI0BaTEJTHOCT HA H3J10:KeHneTo — 0 — 7T.
- TEKCTHT CbOTBETCTBA CMUCIIOBO Ha 3ajajJieHara TeMa - 1 T.

- CMUCJICHOCT M TIOCIIE/IOBATEITHOCT B M3IOXKEHUETO - 4 T.

- 1o0po cTpyKTypupaHe Ha nmaparpadure (CBbp3BaHe Ha U3peUyeHHsTa B maparpada) - 1 T.

- CBBpP3BaHE Ha nmaparpaduTe B IIIOCTEH TEKCT (JIOTHYECKH BPB3KHU/TUIaBeH npexon) - 1 T.

2. Cna3BaHe Ha 3a1ajieHus1 o0eM u popmat — 0 — 3T1.

- 3 T. — cra3eH e 3a/1aIcHUAT 00eM Ha TeKCTa M M3MCKBAaHUATA KbM (hopMaTa Ha TeKCTa /MUCMO; ChUMHEHUE/ ;
npaBWIHO TpaduaHO oopmieHuE.

- 2 T. — HE ca CIIA3eHU M3MCKBAHUATA OTHOCHO (popMaTa Ha TEKCTa /MUCMO; ChUMHEHHE/ , HO ca € HaJINLE
cbhoOpa3siBaHe ¢ M3UCKBAHHATA II0 OTHOIICHHE Ha 00eMa W MpaBWIIHO rpaduvaHO 0OpMIIEHHE HA TEKCTa

- 1T. - cna3eHu ca U3UCKBaHMATA 3a popMaTa Ha TEKCTa /IMCMO; ChUMHEHUE/; IPABUIIHO rpauaHO
odopmIIeHHE, HO HE ca ChoOpa3eH! M3UCKBAHUATA TI0 OTHOIICHHE HA o0eMa ( TEKCTHT HAAXBBPJs ¢ 20
AYMH 3aJaeHaTa TOPHA TPaHULA WK e ¢ 10 1yMH Mo-MaJIKo OT 3aJaJeHaTa 10JHA IPAHMUIA.)

- 0 T. — He ca cria3eHH U3MCKBaHUATA 3a GopMaT U 00EM Ha TEKCTa

3. Cna3BaHe Ha rpaMaTHYecKuTe HOPpMH U npasuiaa — 0 — 91.

- YMECTHO U3I0JI3BaHE HA Pa3HOOOPa3HU IrpaMaTUYHU (POPMU U CUHTAKTUYHU CTPYKTYpH - 9 T.
- 1 cepno3na win 2 MajaoBa)KHU T'paMaTHUYHU T'PEIKY - 8 T.

- 2 cepuo3HU WK 3-4 MaJIOBayKHU IPAMATHUYHU TPEIKH - 7 T.

- 3 cepno3Hu Wi 4-5 ManoBaKHU IPaMaTUYHU IPEUIKU - 6 T.

- 4 cepro3HU MM 5-6 MaOBaYKHU rpaMaTUYHU IPEIIKH - 5 T.

- 5 cepno3nu i 6-7 ManoBaXKHU I'PaMaTU4YHU IPEUIKU - 4 T.

- 6 cepro3HU WK 7-8 MaJIOBaKHU IPAMATHUYHU IPEIKH - 3 T.

- 7 cepno3Hu win 8-9 ManoBaKHU IPaMaTUYHU IPEUIKU - 2 T.

- 8 cepno3nu win 9-10 ManoBaxHU rpaMaTUYHU TPEUIKU - | T.

- HaJ 8 cepro3Hu WK 9-10 ManoBakHU rpaMaTUYHU Ipeliky - 0 T.

4. IlpaBuiaHa ¥ TouHa ynorpeda Ha Jekcukara — 0 — 9.

- YMECTHO U3I0JI3BaHa OoraTa JeKkcuka u ¢paseonorus - 9 T.
- 1 cepno3na win 2 MajaoOBa)KHU JIEKCUKAIHU FPELIKH - 8 T.

- 2 cepuo3HU WK 3-4 MaJIOBa)KHU JIEKCUKAIHU TPEMIKH - 7 T.
- 3 cepno3Hu Wi 4-5 ManoBa)kKHU JIEKCUKATHU TPELIKHU - 6 T.
- 4 cepro3HU UM 5-6 MaJOBaKHU JIEKCUKAJIHU TPELIKH - 5 T.
- 5 cepno3Hu win 6-7 ManOBa)kKHU JIEKCUKATHU T'PEUIKU - 4 T.
- 6 cepuO3HU WK 7-8 MaJIOBaKHU JIEKCUKAJIHYU TPELIKH - 3 T.
- 7 cepno3Hu WK 8-9 ManoBa)kKHU JIEKCUKAIHU IPELIKHU - 2 T.
- 8 cepro3nu uinu 9-10 MamOBaKHM JICKCUKAJIHUA TPENIKA - 1 T.
- HaJ 8 cepro3Hu WK 9-10 ManoBa)KHU JIEKCUKAIHM Ipelku - 0 T.

5. IlpaBonuc — 0— 2T . (He ce CAHKIMOHUPAT MYHKTYAUMOHHM I'PEellIKHA, KOUTO He MpevyaT Ha
pa3oupaHeTto)

- Ip¥ 5 MPABOMUCHU TPEIIKH - 1T.
- HaJ 5 IPaBOINKCHU T'pemiky - -0T.



